Pillow Blocks Pillow Blocks

Cast Housings Flanged Cast Housings with Pilot / Cast Housings Take-Up
g &
2 Pillow Blocks - Pillow Blocks — Pillow Blocks — =
§- Cast Housing Flanged Cast Housings with Pilot Cast Housings Take-Up s
(=] -1}
@ [
~
= 2
= g
- £
=] [RotiS 10} [RotiS 10} a
) (=]
5 =
(=] B B =
2 HDH . HDHCP : HDMC 5 >
o Diamond Shape Flanged ) 3 Compact Diamond Shape Flanged ), ™ Pilot AZ 3
3 2-M1 2-M1 ‘ @ 2-M1 g
2 £
=3 (@) - (1) <
e ©3) i} _ ) 2
@)
= 4-d / {
| ™ XF S
*\ 94' ’ gl
il
HDF P ! ‘ J I Material
s A J B LAL Accuracy: JIS B 1558 (1) Housing Cast Iron Class No. 30
duare Hanget -~ a3l g, A R (2) Bearing 52100 Bearing Steel
Bearing Inner Diameter Tolerance: H7 (Clearance Fit) (3) Rubber Seal | Nitrile Rubber (NBR Nitrile Rubber)
Operating Temperature: -15 - +100°C (4) Set Screw 4137 Alloy Steel or Equivalent
Recuracy: JI% B 1558 Components Material Kgt=Nx0.10172
Bearing Inn‘ﬂfDB'; :liier Tolerance (1) Housing Alloy Cast Iron Class No.30 Part Number | JIS Nominal Basic Load Rating (kN) Set Screw
i i H n " N M
H7 (Clearance Fit) (2) Bearing 52100 Bearing Steel T m HDMC E P | PC.D. t A A A, J E d B S or Cor " T|%[,|::l[:|eng t\:ﬂ (;?S
. o i i h d
Operating Temperature: -15—+100°C (3) Rubber Seal Nitrile Rubber (NBR) () | (B (N-cm) |G ()
(4)SetScrew | 4137 Alloy Steel or Equivalent 12 | UCFC201 | 890
UCFC202 870
:3 Uorozos | 100 | 851 | 78 | 7 | 283 | 205 | 10 | 5 | 62 | 12 | 310 | 127 | 128 6.6 S22 Bl a0
20 | UCFC204 MERUES 1280 840
kgf=Nx0.101972
9= 25 | UCFc205 | 115 | 636 | 90 | 7 | 208 | 21 6 | 70 341 | 143 | 140 79 490 1400 970
Part Number JIS Nominal Basic Load Rating (kN) Set Screw Mass (g) HDMC 50 | uorczos | 125 [ 707 | 100 | & | 322 23 | ©° [ & | 80 | '> [381 | 159 | 196 1.3 1960 1180
| Axial 35 | UcFc2o7 | 135 | 77.8 | 110 36.4 8 | 90 429 | 175 | 259 15.4 2590 1550
F I w L L t A A A, d d, B S Tightenin
Type | D HDH HDF ! ! B ! Cr cor M, %’orque 9| Load HDH | HDF 40 | ucrceos | 145 | 848 | 120 | O [m2| 2| 10 0] " 29.3 17.9 M8 x 1 1180 2930 1850
(Dynamic) (Static) N- Capacity 49.2
(N-om) | ™y 45 | Uorc209 | 160 | 933 | 132 | |, [ 402 | 26 | | . 105 | 19 33.0 20.5 3300 2420
12| UcrL2o1 | ucreot w0 | e 50 | ucrc210 | 165 | 976 | 138 426 | 28 110 51.6 35.5 232 |[M10x1.25| 2350 3550 2710
15| UCFL202 | UCF202 392 640 | 450 | 610 kgf=Nx0.101972
113 | 90 | 60 | 86 | 64 | 12 |333|255| 15 | 12 31.0|127| 128 6.6 - : :
17| UCFL203 | UCF203 . G075 440 600 Part Number JIS Nominal Basic Load Rating (kN) Set Screw
x 0. -
20| UCFL204 | UCF204 1280 | 420 | 580 Mol ow | w | m LA la A wlw|z]ale]|s o cor Tightening t\;-aadl M(?Ss
HDH | 25| UCFL20S | UCF205 | 130 | 99 | 68 | 95 | 70 |~ |358|270) 16 341(143| 140 7.9 490 1400 | 590 | 720 Type D | HDTKP (Dynamic) | (Static) | ™ (T,‘}'gllr's Capacity
HDF | 30| ucFL206 | UCF206 | 148 | 117 | 80 | 108 | 83 402|310 18 381(159| 196 113 1960 | 900 | 1010 "N
35| UCFL207 | UCF207 | 161 | 130 | 90 | 117 | 92 444 34 | 19 10 14 |429|175| 259 15.4 2590 | 1200 | 1380 12 | UCTZ01 0
16— il LG : - 15 | ucT202 392 640 770
40| UCFL208 | UCF208 | 175 | 144 | 100 | 130 | 102 512| 36 | 21 192 293 17.9 M8 x 1 1180 | 2930 | 1510 | 1770 17 | uct203 | 89 | 76 | 51 | 32 | | 61 | %% | & I RRY RO e gk - 760
.. x0.
45| UCFL209 | UCF209 | 188 | 148 | 108 | 137 | 105 18 52.2 | 38 2 | 19 16 19 33.0 205 3300 | 1900 | 2070 20 | UcT204 12 | 16 1280 740
50| ucr210 | ucreio | 197 [ 157 | 115 | 143 | 111 546 40 516 355 232 | M10x125| 2350 | 3550 | 2200 | 2360 HDTKP 25 { UCTa05 o | G2 | &2 | 2 il || 8| 150 729 e 1500 B 20
30 | UcT206 | o | oo | 86 | o [113[ 70 [ |28 57 | ,, |381]159] 196 11.3 1960 1300
Kgf=Nx0.101972 35 | uct2o7 64 129 | 78 30 13 | 64 429|175| 259 15.4 2590 1600
- - : 40 | uct208 | 114 14 88 33 & 192 29.3 179 | Mm8x1 1180 2930 | 2400
Part Number Basic Load Rating (kN) Set Screw " 45 | ucres | 102 83 | 49 87 | 49 | 35 | 16 | 19 | 16 29 |4 19 33.0 205 3300 | 2400
i i ass
e b F F, w t A A A, d B s or Cor " Tlg]j_l‘:te:;ng P o 50 | ucre10 149 [ 90 37 86 51.6 35.5 232 |[M10x1.25] 2350 3550 | 2500
b (Dynamic) | (Static) 1 (N_’c“m) Capacity (N)
12 280 Eaﬂ Nulmber lE\pplic?tion
— — xample xample
15| 81 63.5 56 95 255 18 95 7 22 6 955 48 476 270 /| P HDMC20 /| P
— M5x0.8 | 250 — HDTKP15 HDTKP
17 250
HDHCP 20| 90 715 63 11 28.7 20 11 10 24.7 7 12.8 6.6 1280 300
J : . ] I HDMC
25 95 76 69 11 305 | 200 11 10 27 75 14.0 79 1400 400 ) o o o / |
M6x0.75 | 490 With the pilot (dia. E part) on the plate mounting side, the ball bearing misalignment I
30 3 90.5 9 12 84.8 225 12 12 30.3 8 196 118 1960 580 can be prevented even if the mounting screws become loose after installation. )
HDTKP
Part Number Tension can be adjusted by sliding the guide groove A,. Suitable for adjusting the
4 Example HDH20 tension of a belt conveyor, etc.
HDF25
HDHCP25

1052 @ MiSUMi There’s more on the web: misumiusa.com Check out misumiusa.com for the most current pricing and lead time. 1053



